N&7-90 Subtracting Integers on a Number Line

Subtraction undoes addition, so to subtract an mteger do the opposnte of what you would do to
add the integer. . o S e N :
Example: (-5 )"(_—2) - To add (—2) move, 2 units to the 2 'Ieft:
- To subtract (~2) move 2 umts to the _ r/ght
- ] | ] { 'y I "l' | I {. 4 IR I I | I jo { S |
i I 1 i | hd 1 R R I P | R - REE RN I I i
-0 -8 -8 -7 6 5 4. 3 2 0 +1 42 43 +4 45 46 47 48 49 4+
 So(5)-(-2)=_-8 | S B

1. Use a number line to subtract.

a) (+6)-(-3) b) (+5)-(+2)

To add (-3), move units . To add (+2), move units

To subtract (-3), move units . To subtract (+2), move units
1
o 1 2 3 4 5 6 7 8 9 10 0 1 2 3 4 5 6 T 8 9
So(+6)-(3)=__ ‘ So(+5)-(+2)=___

c) (-5)-(+4) : d) (-5)-(-3)

To add (+4), move .units . To add (-3), move units

To subtract (+4), move units . To subtract (-3), move - units

| | | I | { | { I i | | | | | ] | ! { I i
H I 1 l i i I { 1 i i I 1 I i i I I ] 1 i
-0 -9 -8 7 -6 -5 -4 -3 -2 -1 0 -0 -9 -8 -7 6 -5 -4 -3 -2 -~
So(-B)-(+4)=__ So (-5)- (-3) =

6) (+3)- (+5) | ) @+2)- 1)

To add (+5), move units . To add (-1), move units

To subtract (+5), move _ = units . To subtract (-1), move units
44—t 44—t
-5 4 -3 2 -4 0 1 2 3 4 5 -5 4 3 -2 -1 0 1 2 3 4
So(+3)-(+8)=____ So(+2)-(-1)= ____

g) 1)-(=3) h) (-2)-(+3)

To add (-3), move units . To add (+3), move units

To subtract (-3), move units . To subtract (+3), move units

R e S s e e e e e S S S
-5 4 3 2 -1 0 1 2 3 4 5 5.4 3 -2 -1 0 1 2 3 4
So(-1)-(-3)=__ So(2)-(+3)=____
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NS7-91 Subtraction Using a Thermometer

What does 2 — 5 mean on a thermometer? o _ o L | » — Y} sc |
- — |~ 4c
Look at 5 - 2. If the temperature is 5° and drops 2°, ( L 3¢
‘the temperature becomes 5 -2 = 3°, — = 2c
; L L 1°C
‘Now switch the 2 and the 5. If the temperature is 2° and drops 5°, — I oc
the temperature becomes 2 -5 = -3°. > — -1°C
‘ — }--2c
— —-3C
1. Use the thermometer model to calculate each expression. —
— }— s6°C
a) If the temperature is 4° and the temperature drops 3°, S I IO
the temperature becomes 4° - 3° = L sc
If the temperature is 3° and the temperature drops 4°, — — 3C
the temperature becomes 3° - 4° = . — — 2°C
b) If the temperature is 5° and the temperature drops 1°, el 1:C
the temperature becomes 5° - 1° = °. ?g
If the temperature is 1° and the temperature drops 5°, B I Y
the temperature becomes 1° - 5° = — = 3¢
c) 6-4= and 4-6= O
— — -5°C
d 5-4= and 4-5= 11 sc
e) 4-1= and 1-4= — k- 7°C
f) 6-3= and 3-6= Q
g 6-2= and 2-6=
2. a) Look at your answers in Question 1. In general, how does a — b compare to b — a?
b) Use your answer to part a) to predict 98 — 101:
¢) Check your prediction on a calculator. Were you correct?
3. Use the thermometer model to subtract.
a) ((2)-3= and (-3)-2= b) -1)-56= and (-5)-1=
¢) (4)-2=_  and (2)-4=__ d (4)-3=___  and (3)-4=__

4. Look at your answers in Question 3.

How does (-a) — b compare to (-b) —

How do both of these compare to a + b?
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5. Use the thermometer model to find the negative integer minus the positive integer.
Then change the sign (as you did in Question 2) to find the positive integer minus —}= oc
the negative integer. 10 :;g
a)’ (2)-3=_-5__ b) (MN)-d4=__ I I
— |--4c
s03—-(-2)=_+45 sod-(-1)= — I -5°C
— = e
EY_ 3 — EY\_4 — — = -7°C
) (B)-8=__ d) (B)-4=___ o
s03-(-5)= s04—-(-H)= — | -9C
e) (4)-5=___ f) (6)-3=___ Q
s05-(4)= s03 - (-6) =
6. Copy each answer from Question 5. How can you get the same answer by adding
instead of subtracting? Write the correct positive integer in the blank.
a) 3-(2)=_+5 by 4-(1)=
$0 3-(2)=3+ _(+2) so 4—-(-1)=4+
c) 3-(-5)= d 4-(5)=
so 3-(-5)=3+ s0 4—-(-5)=4+
e) 5-(4)=___ fy 3-(6)=___
so 5-(4)=5+ so 3-(6)=3+
7. Ingeneral, a - (-b) gives the same result as a +
8. Change the subtraction of a negative integer to the addition of a positive integer.
a) 4-(-2)=4+ 2 b) 7-(-7)=7+ c) 8—-(-3)=8+
: d) (-5)-(-1)=(-5)+ e) (B)-(4)=-3+ ) (2)-(8)=-2+
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9. a) (4)-6=___ b) (4)-(-8)=____ 0 (2-(H=___
d 6~-7=___ e) ((9)-4=__ fy 6-(-7)=___
s Q) 2-T=____ h) 2-(N=___ ) 2-(N=___
D 2-T=___ K (N-2=____ ) 7-(2)=
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